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2- The tad proporfional of x2 and v s e LWy A2 3
z 4 2
z_4 (v} 51- {C) :':=;|-"i %i' (Al
3 The measure of the sxternal angle of & reguiar hexagon |s JﬁJJ'J..'..!JJ-;.,d:L.fH..P o3
In 4 4 B
2 B 5 {+] 3 (8 3 (A)
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14- Tangents dramn at the ends of glameter of a Al AR il L 5 14

crche a8 1o each other
papendicular = (D} colinear &~ (0) non-paralilel Ja7F (B) parallel JiF (A)
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Time: 2:10 Hours Group: 1

Marks: B0 Subjective l.h'! &0 :
(9 A A S s (3 e B e e -
_ Section 1 Jil.e
2. Write short answers to any SIX questions: (226=12) i Faa Pl o 8) .;J.-" -2
. Define reciprocal equation gﬁ'_ef\. ahla e .
i+ Wiite In standand form 114+£E=3 -2 P E+4 +—23 aple A
i~ Define ‘Synthetic Division’ A MR T A
iv- Write he quadratic equation having the roots 1442, 3-42 ol Bandil 3442, 3-42 W
v- Evaluate 7+ @® +1 e JadTs o +1 =¥
vi- Without solving, find sum and product of the roots of LN a+t)ad-ax+b=0asdon M
quadratic equation (a + b) x* -ax +b=0 gs’r;ﬂ,.,-ﬂ,p.‘,ff.,ma.,r p.
vii- Define 'Diract Variation'. A s F il
vil- Find the fourth progortion to &, 7, 8 LA EEE BT 0B i
- Find % Sx=2:4um2x+3:7 Ix-2:idn2med: 7 ot w
3. Write short answers to any SIX questions: (2x6=12) K F AL s (8) ;Jf -3
"\ Define fraction, HAPLS -
Ixn+3 3+l 3
i~ Resolve into partial fractions -~y S G-Da+D
iii- Find sets X and Y if X« Y = {{a,8),(b,a).(c.a),id.8) X x ¥ = {{a,a).(balc.aldal | ZEak VX o <l
- Y ={=2 1.2} than make two binary réfations for ¥ = Y. *{Jhylmjﬁpg YeYrin¥Y®{-2 12 I
v- Define range of relation. A bl
vi- If A={1,2 3 4,5 6 and B =2, 4,6, 8], then JEs{2 468 MAR{1,23456.] .vi
prove that AL/ B =BUA AUB=BUA JEa
yil- Thi salanies of five teachens are as foliows, find the A el o A gdiwﬂlf&:pl ﬁ.‘, _wii
mean salaries 11500, 12400, 15000, 14500, 14800 11500, 12400, 15000, 14500, 14800
viil- Define standard deviation. LA A il
ix- For the following data find harronic mesan: i el BT S i i
X 12 5 8 4
4. \Wirits short answers to any 51X questions: (2x6=12) E faia Pl o) gl 4
|- Defing coterminal angle. AL PN o T
i Convert ]'13—; into degres, Zbeteh T ]—EE =ll
iii- Prove that cos” @ —sin 8 = cost B —sin® B cos” B =sin? 8 = cos® 0 -gin? § SEar -l
iv- Define zero dimansion A ergs
v- Define circumcircie. Al v
vi- Define tangent _EwSdov
vii- Diefine chord of the circle. Zaflan Lo
viii- Define circumandgle. ey Al e i
ix- Define verices. _ﬁ_él;"u'l_.rb ix
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(@) Soive: x41++x=-2 = x4 6 ES Ix+ 1 +0%=2 = Jx+6 () -5
(b) Solve the simultanecus equations S Ui A (L)
45 - 5y2 = § 452 -Gyl =§
x2+y2=14 Ix?+y2=14
(@ | m_u = =2 (@b.c,def # 0) thenby r_m =< =2 @bedef=0) (-6
using K-method show that SE ke Zw 2 i Kamethod
=|iTm+nf ¢ a .__uu...__. _n.
b Vols &%+ 2 B [ )
(b} Resolve Ex,_..___ M,‘..Hwﬂ _uﬂ into partial fractions 4.m L.t,_ Lz s _hm H+MM|UMM.H.._LT ()
(8) WA={1,2,3.4586) B={2 4.5, 8} anei AB=(2,4,6,8.A={1,23.4,5, £} .,...ﬂ._.h_.._ =T
C = {1, 4, B}, then prove that JEo ki C=1{1,4, 8)
AV(BNC) =(AvuB)n{Au() AU(BNC) =(AuBIN{AUC)
(b) Find standard deviation 'S’ of the set of numbers: Lﬁ et 1o Luu oot Kslat 222, (1}
12, 6, 7, 3, 15 10, 18, 5 12, 6, _._. 3,15, 10, 18, &
t+ncmm sin l4+cosd sin @
®) Prove thak I-cosB N I—cos@ ﬁ_‘.ﬂ“mmm Hlincmm Sap () -8
(b) Draw two circles with radii 2.5 cm and 3 cm. If their hﬂ_‘.,h -B7 325 L tum_ru.:.,__.: ()
centres are 6.5 cm apart, then draw twa direct -mﬂﬁé..r.._ e i 765 by Olre ¥
common tangents.
Prove that A straight line drawn from fhe centre of 2 circie Gl ARV i.::f.ra ..:m..,kﬁ -8
to bisect a chord (which is riol a diamatsr) is perpandiculzr to the chord, - bn uﬁ.,._ 5 83 a0y S o
OF :
Prove that the measure of a central rgle of 3 minor arc MRy PSP W ol - A0S
of a circle is double than that of the angle subtended by bt se o iyl rc.u._r... b
the comesponding major are,
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- 1- The aumber of feema in & standard guadratic
equation ax’ *bx+c=0 i

4 D) 3G
2- Cubse roots of 1" are
l,-@, —p? (D) ~1.-m, a* (G
+ i_ Ei = egusl o
a+p &
af Ly Tf'«lf' Ly
4- Find "z’ = propoition 4+ 2 2§ 7 15
2 (D) : {C)
3 Imaprgporton a:b:rord 'a and'd are called
extremas o4 (B)
fourth praporional w5 (D)
6 _..’.'3_*'
(x—I)x+2)

an improper fraction -1 (B)
aconstantterm ST oy
7- A sat wilh no element is called
mpperset =37 M) singletenset o (0)
& The number of elements in powar sed 1.2, 318

a (o 3 ()

% Sum of the deviafions of the variable X froem e
K% meds = abways

2 same Lokl {C

13- The urmon of baeo mon-oollinaar rays which have
SEETRTHON @ POEn s called
aradan is (D
11- Facs of 3 crcke are

A minube oo (L)

all un-equal st 207 J(B)
haif of any chord 257 7537 | (1)
i2- A ing wnich s two SOIMS in common weth 3 circle islcalled

codine of acincle  cosne Ko (B}
tecantof acircle secant ¥ fio (D
13 The arcs cpoasite o Incoagruent cantrl B Ty

INGRES of & cioie 20 ahacay s
pefperdcular = (DY
14 The croumference of a cicia is called

arailet

diameter & [0} boundary | = ()
15 Thelangh of a damber of 5 cucke s
e radius of the crche
4 3 {C)

11441)-218-T0000 '6"-"

iF [T} ncongrusnd  Fird (8)

P

gl |_||,..:|I-.,..L' ax’ ¥bx+c=0 R BT ot FULT R

=4 i A
f i Lt 2
-1, 0, - B -1,-m, = A
NS
| L,
g @ il
.E;fr‘i"""'::'u_'d_'x::E:m-.,_fF A
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3 {e) ra Al
Gl d P arheid b o5
means o (4]
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]'LJ+| &
s 3 (x=1Kx+2)
@t propar fraction f':.-*.'i (Al
anidentty =Ll (C)
--_G_F-'-"."r.'.rl';--afl:.l'.s-lrl.;;.-’e-ir."' =
wbsel Loy (8) emply set Lepl (A)

el B o Lt £ (1.2, 3 8
& (B 4 (A
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(0, TS T PO |

allequal sl (A

double of the dameter e 5 (0

T T IO R T (T
Bire of 3 circle  Gine o (A
ngent of a grcle teagand £ F- (G

adegres 45 (B)
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Section ] LJi2
2. Write short answers to any S0 questions: (Zx6=12) et L i (B) g -2

i« Splve x€ - T1x® 152 by factorization
ii- Sobee 5x¢= 30x by taclorization.
W Evaluate "+ @it -5

.ﬁiﬁfffﬂfﬁa -11z=182 i

2l P e Saf=30x
—ﬁ"-""’-—'éJm“-r P |

v- i a . are the roots of the equation 4x7 -5x+8=0, H'jud:l:z-ﬁziﬂ-ﬂ;hpu_ﬁﬁ -
then find the vaue of a” fi° Eepedf o? B us
v- Write the quadratic equation having roots 141, 1=1 i e Foudn s 1+i, 1= v
v~ Define synihetic division. AL w
wi- Find the value of p # the ratos 2p+5:3p <4 and A2peS:-pra gt ip va
3:4 are equal i eIz d
il |f :“:1]_-. and y= 4 when x=3, find x when y=24 xfn el ay=4 . 3"'":11 Ji Ve
y=24 & o
%~ Find mean proportonal between 20 and 45, e AR LK 45 420 ix
3 Write short answers to any S1X questions: (ZxB=12) ey v gl 3
I+ 3 In+ 3 i
+ Rescive Ino partal frachons *-1)+2) .z_iffuiafu.!m"{—'_:‘_mh_ui =
ii- Defire icentity. 2 prflalir i
jil- W A={0 2 4), B={-1,3},thenfind AxAand BxB. AAsATRBe-1,2):A= (029 @
,#.r.-"" BzB
iv- Define inlersection of sets. IRl v
v M A={1,2 3.4 5 and B={2 4 5 6 B, then £B=(2.4,568  A={123450 v
find A~ B and AuB e AUB o ANB F
wi- Virde De-Morgan's laws AL A
wi- Define moving aversges il dr
viii- Fird geoemetric mean of the observations 2. 4, 8 by bl e s S &2 4. B sl i
using basx tormula,
ix- The marks of seven students in mathemalic are Iﬁ.ﬂﬂ.ﬂ.ﬁﬁ.ﬁﬁ.ﬁlﬂ;uﬁaé_.,lﬂ'-,ﬂ;v o
45, B0, 74, 58, 65, 63, 43, Calculste anthmatc mean T T
& Write short answers to any S1X questions: 2aB=12) e fepe Lo gl A
i Defing "Coberminal Angle’. TN PITY )
I3x . 13n
I+ Convert ~_~ radian to degroe measure el e T
HI-thtM=]gmﬂ M-hmﬂ S ar -0
coa b cos
v~ Dating Fight Angle g i N
v- What is major arc of a clrcle? *:q.k"-,qﬂ.'hf;.:d- ¥
wi- Define sacant EFSBEF
vil=- Dafine segment of a circle. Eafln s
viil Define ‘Chord of a Circle’ AP e e
Al Lot o

k- Dwfne 'Polygon’.
(210D .;’_",J'L

Ly =K
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|
(@) Solve the equation 5x2 uqawlu

{0) Provethat X +y* = (x+ y)(x + wy)(x+w°y)
{a) Using theorem of componendo-dividendo, find the

p) _
value of m+|..__.+w.+mn if xn.niu._n.
-2y x-22 Y+ 7
(b} Resolve (e into partiai fracti
e —— 5" into partiai fractions.
Gx+2x+1)2 P

(@) If A=(1,2, 3,4, 586} B={2 4,6, 8)and
C ={1, 4, 8}, then prove that

lﬁ.r_‘u__...mhw H,u!h.lm _.“..._r_.....__”l.u_ulm

et ey = (xt pxr oy oly) )

X+2y x+2z 3
aruw T 5. Lnt LS etasd J L e (L) -8
dyz .
u X= qlw.w Sizennd§

Tx+4
oL P e e )

AB={24,68 A={1,2 3456/ (J) .7
S ki C=(1, 4, 8)

AN(BUC) = AnB)U(ANC) AR (BUC) = A B)U(AAC)
(b) The marks of seven students in matnematics are Adibs it e/ ek P Lufieal (L)
as follows. Determine variance: Ny
Students b 1 2 3 4 5 6 7
Marks 45 60 74 58 65 63 49
I+sin@ 1-sin@ 1+sinf 1-sin®
W Vedty thal l-sin® 1+sin® =hR e 1-sin® 1+sin@ .

(b) Inscribe a circle in an equilateral triangle ABC with

each side of length 5 cm.
Prove that, two chords of a circle which are eguidistant from
the cenire, are congruent.

OR

Prove that, the measure of a central angle of 2 iinor arc
of a circle, is double that of the angie subtanded by the
corresponding major arc.
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